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Introduction

This contribution is a discussion paper presenting a group conferencing use case for consideration in Technical Study for Group Conference System Enablers for LTE (TS_GCSE_LTE).
Description
This use case describes a scenario where a group of UEs communicate via GCSE using the LTE infrastructure and ProSe Communications concurrently.  This use case also describes a scenario where a given UE acts as a communication relay for one or more UEs so that the latter UE(s) can get communication towards the network.
The proposed technical specifications are presented separately in S1-123017 for inclusion in TS 22.468. 
Pre-Conditions
An operator offers a service, which makes use of GCSE and ProSe features.
Officer A, Officer B, and Officer C use GCSE and ProSe-enabled public safety UEs. 

Officer A’s UE has a relay capability allowing it to receive and re-transmit GCSE and ProSe communications.

Officer A, Officer B, and Officer C are subscribed to a Public Safety service that allows them to use GCSE and ProSe.

Officer A’s UE, Officer B’s UE, and Officer C’s UE have each been configured to belong to communications group X.

Officer A and B are within network coverage and not in ProSe range.

Officer C is out of network coverage but within ProSe Group Communications transmission range of Officer A. 

Service Flows

Officer A communicates information to Officer B and C in communications group X. 

Officer A’s and Officer B’s UEs exchange data using GCSE group communications via the network, while Officer A’s and Officer C’s UEs exchange data using ProSe Group communication. 

Officer A’s UE acts as a range extension and relay (receives and re-transmits the communication between Officer B’s UE and Officer C’s UE) for both GCSE group communication via the network and ProSe Communications in communications group X.

Officer A is able to continue to act as the relay until Officer B is back within transmission range of Officer A and Officer C.

Post-Condition
The officers are able to communicate information to each other within communications group X utilizing both GCSE network and ProSe Group communications.

